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Roll NO.........ccocenee,
Time allowed : 3 hours Maximum marks : 100
Total number of questions : 7 Total number of printed pages : 7

NOTE : 1. Answer FIVE Questions including Question No.1 which is compulsory. All
working notes should be shown distinctly.

2. Tables showing the present valueaf and the present value of an annuity of
%1 for 15 years are annexed.

1. Comment on the following. Attemmny four :
() Financial gearing is a fair weather friend.
(i) Deferred payment of taxes is a source of working capital.
(i) The device of capital rationing is adopted to control capital expenditure.
(iv) A stable dvidend policy is always preferable to a fluctuating dividend policy.

(v) Intrinsic value of a security is valid for a given set of conditions.
(5 marks each)

2. (a) Three companies X Ltd., Y Ltd. and Z Ltd. are in the same type of business and hence
having similar operating risks. However, the capital structure of each of them is different

as follows :
X Ltd. Y Ltd. Z Ltd.
(<) (<) (%)
Equity share capital (face val@0 per share) 4,00,000 2,50,000 5,00,000
Market value per share 15 20 12
Dividend per share 2.70 4.00 2.88
Debentures (face valu&l00 per debenture) Nil 1,00,000 2,50,000
Market value per debenture — 125 80
Interest rate on debenture — 10% 8%

Assume that the current level of dividend is expected to continue indefinitely and the
income tax rate is 30%.

You are required to compute the weighted average cost of capital (at market value) of
each company.
(10 marks)
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(b) Equity shares of Bright India Ltd. are being currently sold3fa® per share. Both
the call option and put option for a 3-month period are available for a strike price of
397 at a premium of3 per share and2 per share respectively. An investor wants
to create a straddle position in this share.

Find out his net pay off at expiration of the option period, if the share price on that
day happens to b&90 or I105.

(5 marks)

() An investor is holding 1,000 shares of Horizon Ltd. Presently, the rate of dividend
being paid by the company & per share and the share is solR25 per share.
However, several factors are likely to change during the course of the year as given

below :
Existing Revised
Risk-free rate (%) 12 10
Market risk premium (%) 6 4
Beta (3) value 1.40 1.25
Expected growth rate (%) 5 9

In view of above factors, should the investor buy, hold or sell the shares and why ?

(5 marks)

3. (a) Raghu Electronics wants to take up a new project involving manufacture of an electronic
device which has good market prospects. Further details are given below :

(¥ in lakhs)
() Cost of the projecf{as estimated)

— Land (to be incurred at the beginning of the year 1) 2.00
— Buildings (to be incurred at the end of the year 1) 3.00
— Machinery (to be incurred at the end of the year 2) 10.00

— Working capital (margin money)
(to be incurred at the beginning of the year 3) 5.00
20.00
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(i) The project will go into production from the beginning of year 3 and will be
operational for a period of 5 years. The annual working results are estimated as

follows :
(¥ in lakhs)
Sales 24
Variable cost 8
Fixed cost(excluding depreciation) 5
Depreciation of assets 2

(i) At the end of the operational period, it is expected that the fixed assets can be
sold for35 lakh (without any profit).

(iv) Cost of capital of the firm is 10%. Applicable tax rate is 33.33% inclusive
of surcharge and education cesss.

You are required to evaluate the proposal using the net present value approach and advise
the firm.

(10 marks)

(b) Green Ltd., engaged in the production of synthetic yarn is planning to expand its
operations. In this context, the company is planning to import a multi-purpose machine
from Japan at a cost of ¥(Yen) 2,460 lakh. The company is in a position to borrow
funds from its bank in India to finance import at the interest rate of 12% per annum
with quarterly rests. Sumitomo Bank in Tokyo has also offered to extend credit of
90 days at 2% per annum against opening of an irrevocable letter of credit.

Other information is as under :

¥ 246
¥ 250

Present exchange rate  :3100

90 Days forward rate : 100

Commission charges for letter of credit is @ 4% per 12 months.

Advise whether the offer from Sumitomo Bank should be accepted.
(10 marks)
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4. Distinguish between the following. Attempiny four :
() 'Liquidity management' and 'treasury management'.
(i) 'Financial aspects' and ‘'economic aspects' of project appraisal.
(i) 'Current account’ and 'capital account' in balance of payment.
(iv) 'Capital structure' and ‘financial structure'.
(v) 'Dematerialisation’ and 'immobilisation’.

(5 marks each)

5. (a) A company belongs to a risk class for which the appropriate capitalisation rate is 10%.
It currently has outstanding 25,000 shares selling1&0 each. The company is
contemplating the declaration of dividen®bfper share at the end of the current financial
year. The company expects to have a net incom&2d lakh and has a proposal
for making new investments &5 lakh.

You are required to show under the Modigliani and Miller (MM) assumptions, whether
payment of dividend affects the value of the company.

(10 marks)

(b) Laxmi Ltd. produces an auto part with a monthly demand of 4,000 units. The product
requires Component-X which is purchase®@2Q. For every finished product, one unit
of Component-X is required. The ordering costi0 per order and the holding cost
is 10% per annum.

You are required to calculate —
() Economic order quantity (EOQ)

(i) If the minimum lot size to be supplied is 4,000 units, what is the extra cost, the
company has to incur ?

(i)  What is the minimum carrying cost, the company has to incur ?
(10 marks)
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6. A company has prepared its annual budget, relevant details of which are reproduced below :

() Sales%46.80 lakh (25% cash sales and
balance on credit) : 78,000 units
(i) Raw material cost : 60% of sales value
(i) Labour cost X6 per unit
(iv) Variable owerheads X1 per unit
(v) Fixed overheads ¥5,00,000 (including

¥1,10,000 as depreciation)
(vi) Budgeted stock levels :

Raw materials : 3 weeks
Work-in-progress . 1 week (material 100%; labour
and overheads 50%)

Finished goods . 2 weeks

(vii) Debtors are allowed credit . 4 weeks

(viii) Creditors allow . 4 weeks credit

(ix) Lag in payment of overheads . 2 weeks

(x) Cash in hand required 350,000

(xi) Wages arepaid as follows :
(@ for B and 29 week : in the 3 week
(b) for 39 and 4 week : in the next week.

Prepare working capital budget (requirement) for a year for the company. Assume one
year = 52 weeks.

(20 marks)

7. Write notes on the following. Attemny four :
(i) Sensitivity analysis in capital budgeting
(i) Stock index futures
(i) Secured premium notes
(iv) Internal treasury control
(v) Benefits of depository system.
(5 marks each)

o
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